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500m & | 1,000m K& | 2,000m & [ 4000mkE | 8,000mKiE |12,000m %k#|20,000m % i
FHIEE 0.80 1.00 1.60 250 4.00 5.70 7.80 10.40
(f#IEZEFK2-4)
[ pagact A B C D E
T 50milE 150mELE | 350mLlE 600mLLlE
50m i 150mRiE | 350makiE | 600miRiE | 1,000m K
FHIEE 0.80 1.00 1.80 2.80 4.00
(f#1E FEFK2-5)
Mn5E 1 2 3 4 5 6 7
[EX7] 50mElE 70mLLE 130mLLE 200mLlE | 300mLlE | 500mLLE
EmEiE 50m ki 70m K& 130m =k | 200m ki 300mkiE | 500m K&
FHIEE 0.80 1.00 1.40 1.90 2.60 3.50 470
(#1E EFK2-6)
HMo%E 1 2 3 4 5
ZY) 200mLElE | 400mElE | 600mLLE | 1,000mELE
EEE 200m K i 400mKi% | 600m K | 1,000m K | 1,500m %K
FHIEE 0.80 1.00 1.40 1.90 2.60
(fHIEZEFK2-7)
Mn4E 1 2 3 4 5 6
S O T 100mLLE [ 500mELE [ 1,000mELE | 2,000mLLE [3,000mELE
100mzkiE | 500mki# | 1,000m k& | 2,000 | 3,000m K | 5,000m ki
FHIEE 0.80 1.00 1.80 2.90 410 5.70
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EARODRERDICEDSRELSNDIEE . (R3-1) DWERREZFERT HLDET S,
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EEHHC BAf FRAE: 200m LL_E600M K
NEGE) RE(RE%) RE (Bx) ﬁ%ﬁ o
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XEfD 0.07 007 | 007
ERBUHA B FRHE . 600m LLE1000m kK
NEGE) REIETEED RE (Bx) ﬁ%ﬁ o
|BiAE A# | W\EE| s | A [BEE| = | A% | HEX | #=E Hi "
SERA 0.07 007 | 007
=) 0.88 088 | 088
XEfC 0.77 077 077
X EfD 0.07 007 | 007
EREB BAfT: $RHE: 1000m LLE
NEGE) REIETEED RE (Bx) ﬁ%ﬁ o
|BiAE A# | \EE| s | A [HEE| = | A | HEX | #=E Hi "
XERA 0.13 013 0.13
6B 1.11 1.11 1.11
REC 1.01 1.01 1.01
X EfD 0.13 013 0.13
I35, M. (WEAZE DB BAGT: EFF  FRAE. 500m LLE1000m kK
NEGE) RE(RE%) RE (Bx) S o
|BBiAE A# | \EE| = | AF[BEE| = | A% | HEX | #=E Hi "
SERA 0.22 100 022 022
=) 0.83 100 083 083
XEfC 0.42 100 042 042
%MD 0.18 100 0.18]| 0.18
FARORDIZEDSBRBLUSNDIBEIL, (RI-J)DHEERREZEHRATHEDET S,
I TEY B &FRr
NEGE) RE(RE%) RE (Bx) S o
|BBiAE A# | \EE| = | AF[BEE| = | A% | HEX | #=E Hi "
SERA 0.12 012 o012
=) 0.30 030 030
XEfC 0.09 009 | 009
X EfD 0.15 0.15| 0.15
/N ILREEEIE
SLARA (RA##k (i) Bifi7: 1,000m
NEGE) RE(RE%) RE (Bx) S e
|BBiAE A B [RExE | %E | A \B [REE| e | B | BEE | 8= Hi "
6B 0.04 100 004 004
REMC 0.18 100| 0.18| 0.18
%MD 0.06 100| 006 0.06
SLAB (FA## (tEfH)) Bifi7: 1,000m
NEGE) REIETEED RE (Bx) S e
|BBiAE A B [REE | &E | A \B [REE| e | B | BEE | 8= Hi "
% 6B 0.04 110 004 004
REC 0.18 110 019 0.19
%MD 0.06 110 006 0.06
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NEGE) RE(RE%) RE (Bx) S o
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6B 0.04 100 004 004
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REC 0.08 100 | 008 0.08
%MD 0.04 100 004 004

FARORDIZEDSBRBLUSNDIBEIL, (R34 DHEERREZEHRATHEDET S,
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NEGE) RE(RE%) RE (Bx) S o
|BiAE A# | \EE| = | AF[BEE| = | A% | HEX | #=E Hi "
6B 0.02 100 002 002
REC 0.06 100| 006 0.06
%MD 0.04 100 004 004

FARORDIZEDSBRBLSNDIBEIL, (R34 DHEERREZEATHEDET S,
EE (BEB) Bfr: BEM B 50mLLE150m R

NEGE) RE(RE%) RE (Bx) S o
|BBiAE A# | \EE| = | AF[BEE| = | A% | HEX | #=E Hi "
% 6B 0.02 100 002 002
REMC 0.08 100 | 008 0.08
%MD 0.04 100 004 004

T ARODREDICEDHSRBRLUNDEE L. (R3-4) DHERRZERTHLDET S,



FRIEEXIFERAHE By fHE
NEGE) RE(RE%) RE (Bx) S o
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BEiHE B prEEXIEHE
NEGE) REIETEED RE (Bx) S o
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BEUREELE) By fHE
NEGE) RE(RE%) RE (Bx) S o
bz A [(WEE| #8 | AR [GEXR| =2 | A\ | WEX [ #H=]| & "
=) 0.12 012 o012
XEfC 0.82 082 082
X EfD 0.04 004 | o004
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=) 0.08 008 | 008
XEfC 0.64 064 064
XEfD 0.04 004 | o004
R WIEERR
(f#IEZERI-1)
Mo 5E 1 2 3 4 5 6 7 8
[EXY] 70mElE 130mLElE | 200mLLE 300mLLE | 450mLLlE | 600mLLE |1,000mELE
EANERE 70m kK 130mRiE | 200maR#E | 300miKiE | 450mKiE | 600mEKi# | 1,000mFK
FHIEE 0.80 1.00 1.30 1.80 2.40 3.00 4.00 5.30
(f#IEFEFR3-2)
[ paact 1 2 3 4 5
ZY) 200mLElE | 400mElE | 600mLLE | 1,000mELE
EmEiE 200m K i 400mKi# | 600m K | 1,000m K | 1,500m %K
FHIEE 0.80 1.00 1.40 1.90 2.60
(4#1E FEFK3-3)
Mn5E A B C D E F G H
30 D 500mELE [1,000mELE| 2,000mELE | 4000mELE | 8,000mLELE [12,000mELE[20,000mELE
500m & | 1,000mKE | 2,000m % [ 4000mkE | 8,000mKiE |12,000m %k#|20,000m % i
FHIEE 0.80 1.00 1.60 250 4.00 5.70 7.80 10.40
(f#1EFEFR34)
Mn5E A B C D E F G H
R 50m L E 150mELE | 350mElE | 600mLLE [1,000mLLE]1,500mLLE]|2000mELE
50m i 150m i | 350mskiE | 600miskiE | 1,000mk:E | 1,500m & | 2,000m i | 3,000m i
FHIEE 0.80 1.00 1.80 2.80 4.00 5.40 6.90 8.70
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. | 3000mLLE | 5000mLLE
PREIH 5,000 5
FHIEE 12.00 15.90
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